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PN 1999
int strlen (char str[]) String.h
void strcpy(char dest[], char srcl[]) String.h
void strcat (char dest[], char src[]) String.h
int strcmp (char sl1[], char s2[]) String.h
int max(int a, int b) stdlib.h
int min(int a, int b) stdlib.h
double pow (double base, double exp) math.h
double sqgrt (double x) math.h
double fabs (double x) math.h
cout iostream
cin iostream
char cin.get (charé& outCh) iostream
void cin.getline(char outStr[], int max, iostream

char delimiter)
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char* octalToBin (char octalNuml[]):;

17-5 007 Pa MO0 NYONN ,octalNum NNINHD VIPO NYIAPN MNP
22N DHY 990N YV (8 DIDAI) MHVPIN NINN NNNNIN
INNNN /L-3 70 MDD NN ND¥INN AWTN NHINN_NPINNY NINMNA MIXPNIN

.octalNum -2 I¥PNN 190NN DY (2 DID12) INIIAN NN NN

L0992 020N Y A5 Y95 151 NIININD DHIINNDA : DIV

owno
."111010001" ANINHDN NN PINN octalToBin ("721")
111" RVININ NN PINN octalToBin ("7")
."001010™ ANIINHN NN PINN octalToBin ("12™)
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char* octalToBin (char octalNum|[])
{

int octallen ;

char * binNum ;

char * currPos ;

octallen = strlen(octalNum) ;

binNum = new char [3*octallen + 1] ;

currPos = binNum ;

for (i = 0 ; i < octalLen ; i++)

{
smallOctalToBin (octalNum[i], currPos) ;
currPos += 3 ;

}

binNum[octalLen*3] = '\0';

return (binNum) ;
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vold smallOctalToBin (char ch, char * binarr)

{

int numvalue ;

numvalue = (int) (ch - '0") ;

if ((numvalue / 4) == 1)
binarr[0] = '1' ;

else
binarr[0] = '0"' ;

if (((numvalue %4) / 2) == 1)
binarr[l] = '1"' ;

else
binarr[1l] = '0"' ;

if ((numvalue %2) == 1)
binarr[2] = '1' ;

else

binarr[2] = '0"' ;
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int findO(int nums([], int n);

DYV) n TN NN ,0MIOYW DMDN DY nums TN VIPI NOIAPN MNP
: MININ MWVTN NN DPPN nums TIWHONIY N (02PN

0,1,2...,(n-1) : ©M%010N0 Y5 NX 0N TIwNN .1

ON 95 2wH orda TR ommn 1,2,...,(n-1) :D»Movnn Yo .2

.32399 TN Yo 13IX,1<I<j<(n-1)

.nums TN 0 990NN YN 12 XNN DPTIN NN PINND ISPNN DY

1)) ap)
49N £ind0([1,2,3,4,0,5,6,71,8) O
.0"9n £ind0([0,1,2,3,4,5,6,71,8) O

9N £find0([1,0,2,3,4,5,6,71,8) o)
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int findO(int nums[], int n)
{
bool foundO ;
int left, right, mid ;
int indexOf0 ;

left = 0 ;
right = n-1 ;

found0 = false ;

while (foundO == false)
{
mid = (left + right) / 2 ;
if (nums[mid] == 0)
{
found0 = true ;
indexof0 = mid ;
{
else if (nums[mid] == mid)

right = mid - 1;
else
left = mid + 1 ;
}

return indexof0;
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const int MAX NAME LEN = 100;
const int MAX NUM OF CHILDREN = 20;

: INAWN NXMT NN NITHNN NN
struct family({
char name [MAX NAME LEN]; /fanownn aw DR 2200 AT
int numChildren; //2°72°7 90 PR 2700 ATw
int ages[MAX NUM OF CHILDREN];  //@72°7 X2 20 779n
}i
typedef struct family FAMILY;

: TINAN TPNPNIND NN I1AND
void findLargeFamilies (FAMILY fams[], inté& size,
int threshold);
2PN G0 TIW GON) size WTN NN MNOIWN DY fams TV NOIAPN MNPNN
AOY9+VOP VNI DN size MONIOMN fams TWNN .threshold

MNAWNN NN P 9> NIN VY9 JNWID MNAWN size PPN fams TN VIPA

A2 PNV OINPNRN VTON M9y 00T threshold -HN NP MOYa
NTAN DN DTN NPNY size NN ITYN MNPNON
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void findLargeFamilies (FAMILY fams[], inté& size,

int threshold)

int readInd, writeInd

for (readInd = 0 , writeInd = 0 ; readInd < size;

readInd++)

if (fams[readInd] .numChildren > threshold)
{
fams[writeInd] = fams[readInd] ;

writeInd ++ ;

size = writelInd ;
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int* splitByKSize (int inData[], int size, int k);
VTN NN ,DMIAPN OIOYW DMODN DY inData TWN VYYD NOIAPN MNP

PONN YN P DY krayn odw T (021N BYY) size

DITIVN inData YV DMODNN YO 12) YIN TIVH NPINMI NINN 7DIXPNN
: IN2N NPPIND 29D

{0,1,...,k-1} : ©INN2 DNV inData 90N Y5 , YN
{k,k+1,....,2*k-1} : ©INN2 DNV inData 90NN Y ,0MINN

{2*k,2*k+1,....,3*k-1} : ©INN2 DNV inData 90NN Y5 ,0MINN

{(k-1)*k,(k-1)*k+1,.....k*k-1} : ©IN2 DNV inData 90NN Y5 ,0MINN

Kk*k 095 ©MYIN DYV inData 190010 Y0 NOIAN

:20 MY
22IWN NN OINN DO TIN2 DMP0NN ITO O
.inData TINN 790N G DY XD DIMINNNN PONY VONNL PN» ©

NMINONT
INIPY MIWIN VDI
sortByKSize([13,100,12,24,2,31,5,19,79,20,30]1,11,5)
.[2,5,13,12,19,24,20,100,31,79,30] TWwNN NN
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int* sortByKSize (int inDatal[], int size, int k)

{

int *counts, *writelIndex, *resArr ;

int currRange, 1 ;

new int [k+1] ;

counts

for (1 = 0 ; i <= k ; 1i++)

counts[i] = 0 ;
for (1 = 0 ; 1 < size ; 1i++)
{
currRange = inDatal[i] / k ;

if (currRange >= k)
counts[k] ++ ;
else

counts[currRange] ++ ;

writeIndex = new int [k+1] ;
writeIndex[0] = 0 ;

for (1 = 1; 1 <= k ; 1i++)

writeIndex[i1i] = writeIndex[i-1] + counts[i-1]

delete [] counts ;

"N

.
4
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resArr = new int [size] ;
for (1 = 0 ; 1 < size ; i++)
{
currRange = inDatal[i] / k ;

if (currRange >= k)

{
resArr|[ writeIndex[k] ] = inDatal[i] ;

writeIndex[k] ++ ;

else

resArr[ writeIndex[currRange] ] = inDatal[i]

writeIndex[currRange] ++ ;

delete[] writeIndex ;

return resArr ;
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int sumPositive (int datal[], int size);
DOVW) size TN NN ,DMIDY D900 DY data TIVN VIPI NYAPN NONPNN
STIVN2 ©»2PNN BMI9DNN DIFD NX NINNDI (2PN

: DINONT

.(2+45+48) 15 9N sumPositive([2,-3,5,-7,8,-1],6) NNIPN
A4 YN sumPositive ([0,-2,4]1,3) NNIPN

.0 N sumPositive ([-2,-3]1,2) NNIPN
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int sumPositive (int datal[], int size)
{

int tempSum ;

if (size == 1)
{
if (datal0] > 0)
return( data([0] );
else

return(0) ;

else

tempSum = sumPositive (data, size-1) ;
if (data[size-1] > 0)

return( tempSum + data[size-1] ) ;
else

return( tempSum ) ;
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bool subsetMul (int numbers[], int size, int mul);
size VTN NX) ,DNOY DM90N DY numbers TIVN VOPI NYIAPN PIPNN
mul Q0N 1901M) (21N DOVY)

TINN 090N DY NXIAP-NN PNWVIVN NNMP DX P ON true PINN MINPNSN
mul =D MY N DM9DNN NONY (NN NPT IND) TIVNIN

MINOINT
-NN NNMP 2 true PN subsetMul ([17,-3,2,-1,6],5,-18) NNRIPN
.{-3,6,} n¥1pn

-NN NPMP D true PN subsetMul ([17,-3,2,-1,6],5,17) NNRIPN
A17} (172 72K N5ONY) N¥IPN

no»p NY 0o false PN subsetMul ([17,-3,2,-1,6]1,5,23) INIPN
NONNN NYIAPN-NN
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bool subsetMul (int numbers[], int size, int mul)
{

bool tempres ;

if (size == 1)

{

if (mul == numbers[0])
return ( true ) ;
else
return ( false ) ;
}
else
{
tempres = subsetMul (numbers, size-1, mul) ;
if (tempres == true)

return (true) ;

else
{
if (numbers[size-1] == 0)
{
if (mul == 0)
return ( true ) ;
else
return( false ) ;
}
else
{
if (mul % numbers([size-1]== 0)
return (subsetMul (numbers, size - 1,
mul/ numbers[size-1] );
else

return false;



